BIDDING IN DEFENSE AND COMPETITION

LEADS AND CARDING

WBFE CONVENTION CARD

OVERCALLS

FIRST LEAD STYLE

General style: Natural, solid LEAD In partners suit MMBA Standard
1st level: 5+card, 9+ HCP, 7-5 L, 4+card w/ 15+ HCP possible SUIT 1./2./4. xX, Xxx, low from H (Natural, Ionger minor)
2nd level: 5+card, 12+ or <6 L NT 1./2./4. attitude MM WEAK 2¢/%/a MM
2nd level jump: 6+card, preemptive or tactical, 7-8 L Broken seq. 9/10/J shows 0 or 2 higher 9/10 shows 0 or 2 higher ; _m \f
3rd level: 5+card, 14+ or <6 LOSERS Other: K from AK with outside singleton or on 5th level = ask for count ridgeggcademy . Bridgegcademy
3rd level jump: 6+card, preemptive or tactical 6-7 L Hxx —we can choose which card to lead based on situation Kubat - Karlik
Responses to overcalls = natural; New suit = F1 after 1 level overcall, LEADS
New suit = NF after 2 level overcalls LEAD Suit NT SYSTEM OVERVIEW
Cuebid in opener’s suit = INV+ with fit (3+ UH) Ace AKX(...), Ax(...) AK(...), AX(...) General rules and style
Jump to 2NT INV+ with fit after Major, based more on distribution King KQ@)x(...), Kx, KQ10(...), Kx, AKIX(x) 1%/¢ promise 3+card 11+ HCP, 7-5(4) L,1¢ can be 2 if 18-20
Jump to 2NT after 1¢ overcall = 10-12 HCP no 4M Queen QJx(...), Qx QJ(...), KOx(...) 1v/4 promise 5+card 11+ HCP, 7-5(4) L
3M jump — preemptive Jack J10(...), IX J10(...), KQJ(.),AQJ(...) INT promise 15-17 HCP, balanced
New suit jump = suit (5+) and fit (3+), NF 10 A/KJ10(...), 109x(...), 10x |A/KJ10(...), 109x(...), Strong bids: 2&
9 H109(...), 9xx(...) H109(...), 9xx(...) Natural preempts
INT/2NT overcall High-Low [ XxX, XXXX XX, XXX, XXXX Bidding 2 suits shows SEB, 1m-1%-1NT/2NT can have 44
15-18 HCP, (semi)balanced; reopen INT = 11-14 Low-High [xX, HxxX(x), HxX HxxX(x), HXX Inverted minors: limited, but forcing 9-14
Responses same as after opening SIGNALS AND CARDING Major raises based on tricks, not strictly HCP
Transfer to opener Major is asking for good stopper minor(s) Partner’s lead Declarer lead Discards 2X over 1M is GF
(19)-1INT-(pass)-24 = 54+#/4,0+HCP => 2% = show maximum, rest. 1. Low = positive  |Low = even 1. Low = positive New suit jump is 9-11 and 6-card
shows minimum; (1m) — 2NT =50m5%, 6 Lor <4 L Suit |2. Low =even High = odd 2. Low =even New suit double jump is preemptive with 7-card
(1v/4) - 2NT = 55 minors, ecpecting 6 L or <4 L 3. suit preference Repeating major by responder on second level = weak
CUEBIDS IN OPPS SUIT 1. Low = positive Low = even 1. Low = positive Repeating major by responder on third level = GF
(IM) —2M =50M+5m 6 L OR <4 L; (1M)-3M = asking for stopper NT |2. Low =even High = odd 2. Low =even Showing Major fit immediately has preference from new suit
(Im) —2m =54+ w/a4 and 7-8 L, 8-14 HCP 3. suit preference Strongest minor raise via other minor and jump to 3/4m

(1m) —3m =55+ w/aand 6 L or <4 L

Signals (including trumps):

Strongest Major raise via 2&

DEFENSE against NT

Suit preference if playing to ruff or in a situation when attitude or count does

Double = 14+, with (S)BAL or <5 L

Not make sense

2% = LANDY, 44+ w/4; 2¢ =5+¥,8-6 L; 2v =5+4,8-6 L;

24 = 44+5+m, 7-6 L; REOPEN only LANDY, rest 5+ NAT

DOUBLES

New suit forsing after overcall

New suit jump is preemptive after overcall

DEFENSE AGAINST PREMPTS

TAKEOUT DOUBLES

SPECIAL CONVENTIONS

Natural, 3M jump = 6+card, ~6 L

a) (10)12+ HCP, 3+cards in the other suits

Limited Inverted Minors, Structured revers,

Leaping Michaels: (2/3M)-4m = 50M5m; 3m-4m = Majors

b) 18+ HCP, (S)BAL

Two-Way-Checkback, SMOLEN

Special after 2¢ MULTI

¢) <4 LOSERS with 6+card

Unusual 2NT, Michaels Cuebids

DEFENSE AGAINST STRONG 14 = 16+

SPECIAL DOUBLES/REDOUBLES

GAZZILLI - 1M-INT and 1v-14

Double/1X = 3cards in other suits; INT = 44+ w/a;

Negative double = 1%-(14)-double = 4%, 1¥ = 5+¥, 14 = 4+4, 29 = 6¥ INV

Frequent Splinters, Exclusion BW (0, 1, 1+Q, 2, 2+Q)

2X = 5+card; 2NT = both minors

1m-(1v)-double = 44, 14 = 5+4, 24 = 64 INV

BW 1430, 5NT after BW = grand slam try

Pass = can be 15+ HCP

Support double = only in case second defender bids the other Major

AFTER OPPS TAKEOUT DOUBLE

1m-(pass)-1M-(1/20M)- double = 3card M and no extras needed

Natural, system on

1M - 2M, Im-1M-2M
2NT = INV+ ask for values, NS = shortness, INV+
3M = aggressive INV based on shape

PSYCHES

rare




YA o EI T ele R ETle| (4333, 4432, 5332) — 2 cards in all suits, max 8 cards in 2 suits
10 — SEB= semi-balanced hand (5422, 5431, 6322, 6331, 4441) — 9 cards in 2 suits (4441 is an exception) or 6card in 1 suit
Z g e HCP UNB = un-balanced hand (5521, 5440, 5530, 6421, 6430, 7321,7222, 7330) — 10 cards in 2 suits (5440 is an exception) or 7 cards in 1 suit
= EZ | A4Kss (6511, 6520, 7420, 7411, 8card) — 11+ cards in 2 suits or 8+ cards in 1 suit;
E = g © Q=2,J=1 TH = Top Honor (A, K, Q); L = Losers — missing A, K, Q; UH = Useful Honor — A, K, Q in trumps or partner’s long suit; SRT = Shortness — mostly singleton or void
[3o]
© 2¢c38 Opening description Responses Further bidding
BAL y 12-14, BAL 3+#/¢ With Major(s): 1¥/a = 4+ HCP, 4+card; 2¥/4 = 9-11 HCP, 7 L, 6-card; after IM: NS = SEB/UNB, 11-17; INT = 12-14 BAL; 24/¢ = 11-15 = SEB;
2358/ (MR 18-19(20), BAL 3v/a = 5-9 HCP, ~7L, 7+card; 4¥/4 = PRE, 7+card ?_'I\'T3=/18-1965|‘_A5'Z: i*/‘ =614_411K/’I Gfﬁrj 1/*-1';/';_3‘; 13;\%9 sg‘;g;gh;cafd
- O o A ; - 1¢ =57 —a. _ . —11. .| fit; 3v/a =~ ;4m = 6+m4M, 4 L; 4v/4 =5 L, 6+m4M,; =
(1% = 2+& with 4-card M) Wlth_BaIanced ha'nds 10_ 5-7; INT = 8-10/6-10 HCP; 2NT = 11-12 HCP; 15+, SEBJUNB: 30M = 18+ SPR. 4-card fit: 40m/40M = void with 4-card fit
1a/e SEB = 5a/edx or 68/ or |-\ | =13-16 HCP; 1/2& =17+ HCP ~ | 18-10-2v/a = 18-20, 544v/a; La/+e-1v-24 = 18-20, 5mda:
SEB/UNB 11-19(21) 4*4'4*10 :lé other 1‘ Wlth MInOI’S (I’]O 4M) 3*/‘ - 6'9, 5+Q/‘, 2*/‘ - 9'14 HCP, 3'4 TH, 4+Q/‘, 10_2*_2‘ = 15+’ 2NT = 12_14’ 2V/Q/36 = SRT, 11_14’ 3‘ = 11_14’ 6+Card;
(4)5+s/e | 7-5(4) L UNB = 68/¢ 4Xl PN 1e followed by 3/4%/2# followed by 3/4¢ = 15+ HCP, 5+ TH, 4+&/¢ 3NT = 18-20
- ' 1%-1¢ = 6+, 5+¢; 2¢/3% = 9-11 HCP, 7 L, 6-card; 14-2% = 12+ 4+% Structured reverse, Two-Way-Checkback
_ o o ~ GAZZILLI, 19/4-INT 19/a - 24 1v/a - 2NT
mostly SEB: 5422, 5431, 14 =4+ HCP, 4+4; 29_— 9-11 HCP, 7 L, 64; 34 =5-9 HCP, ~7 L, 74 2 = 15+ FU\! or SEB %0 = 164 34 = 15+, asking
6322, 6331 INT =6-11 HCP, no fit - GAZZILLI 11-14 5M4a 2M =11-15, 6c (2NT ask | 3¢ =5 L, any 64/55
1 St 11-19(21) -’only with 59332 2% = 12+, GF, BAL/with fit/5+&; 2¢ = 12+, GF, 5+card 2¢ = 11-14 5M4e E%I\SART)lgrlescipe b(;d gx/l/*/ﬁl*(‘é 5L f;nlt_i void
7-5(4) L ; 2v = 3+card, 1-2 UH; 3¥ = 1-2 UH, 4+card; 2NT = INV+, 2-4 UH, 3+fit; 2v = 11-14 6v / 544y = 11-15, 4-car = minimum, _
UNB with 694X or 595&/4/v ! i P ; : ’ 2= 18- - 2NT = 13-15, (S)BAL 3NT = 15-17, BAL, optional
or Tty 24 then 3¥ = 5+ UH, 3+fit; 3NT = Splinter in &, 3 UH, 11-14; i selieptbel IS oL | ma s B
4%/+ = Splinter, 3 UH, 11-14; 3&/¢ = 9-11 HCP, ~7 L, 6card UNBJ55 41, 7w/aa5L | 3M=solid6M/7M,6L | 1M-2NT-34
2/6/¥ = 14- - 3NT = 16-17, (S)BAL 3¢=4UHno SRT
mostly SEB: 5422, 5431, | INT = 6-11 HCP, no fit — GAZZILLI s 1 e s L | Sl Mo | 5= U e o sk
: ) ) =0b- ) - 3NT=toplav 4M = Tcard 6 L NS =2 UH and SRT
1119021 |6322 6331 2% = 12+, GF, BAL/with fit/5+&; 24/% = 12+, GF, 5+card IMINT D426 = (8)0-11, | Lv/a-28-20 3NT = 2:3 UH, 13-14
la 5+e 7-5(4) L BAM only with 54332 24 = 3+card, 1-2 UH; 34 = 1-2 UH, 4+card; 2NT = INV+, 2-4 UH, 3+fit; rest = natural 5-7(8) gg/ll\; _Hi_card im; Nz Tun; 9-12
UNB with 644X or 5a5&/¢ 2% then 34 = (4)5+ UH, 3+fit; 3NT = Splinter in ¥, 3 UH, 11-14; 4%/¢ = = 154 waiti AM = aske 2. ;
2NT = 15+, waiting 3M = asks 2nd suit
or 7+ Splinter, 3 UH, 11-14; 3%/¢/% = 9-11 HCP, 7L, 6card; 4¥ =5-9 HCP, ~7L, 7% 3a/¢ = 6+card other = cuebid + extra
3NT = 12-14, (S)BAL 4M =2 UH
- . _ . — . [ INT-2&-2¢4-29/4 = INV, 5494; 2NT = INV; 3&/¢ = GF, 5+&/¢;
2-4(5) v/ (14)15-17 HCP, BAL 24 = Stayman, INV+, 4+M; 24/ = transfer, 5+v/a; 24/34 = transfer, 6+&/¢; | .0, 52 QU EN AMEOM GF+: 4a/e = 545v 6 L and SRT
INT 2NT = INV no 4M; 3¢ = INV, 6¢; 3¥/4 = 54+&+e, GF+, SRT; 4%/¢ = transfer
2-5(6) /4 5w/, 6#/4 possible ’ AR i Y INT-24-2v/4-OM = slam try with M fit, 3m = GF, 4+;
' to w/a s 6+cards; 4v/4/5%/¢ = natural, tactical; 4NT = quantitative; INT-20-29-24 = NF, 5459 7 L: INT-2¥-24-3¥ = GF, 545¢ <5 L:
2¢ = (4+ HCP) A’ K or QQ and better’ any distribution 2*-20-2'/4?4'/6 :.1 trick, 3v/4 = 2 tricks, 2NT = flt, 2 UH/§+ tricks
= (0- H ransters without Tit, 24/3% = can be WIthout Tit, 3%/4/¥ = 5+card ¢/v/&
o9 (03HCP) max QJ, sometimes QQ T fi thout fit, 24/3 be BAL without fit, 3%/4/ 5 d /v/
20+ BAL, 5M 24 = (10+ HCP) 3 TH ;A or K and min 1 TH or 6+card
2% - 18+ UNB 1suit<4 L e . . 2&-2v-24 = GF, can pass 2NT — 2NT = nothing useful, 3%/¢ = 4+%/a with Q
18+ (<4L) | (20)22+ SEB/UNB 2NT = (4-8 HCP) 54+ in Mé_ljors . . or 5+C.; 3¥/a = 6+&/¢ — natural after 2N;
3%&/4/v/& = super-transfer with 6+cards v/4/%/¢ with no better option for 2#-29-2NT/3X = NF, natural; 2#-2¥-2NT-3NS = NF, natural;
other contracts 2#-24-2NT = (S)BAL, 3X = NAT, 5+card Major, 6+card minor
24 (5)6 (6)8-11 PREEMPTIVE, mostly 6322, | 2¥/4 = 5+card NF; 2NT = asking for SRT, INV+; 3% = GF with ¢ fit, slam o B B
6331 or 6421 try; 3¢ = PRE, 3¥/4 = 6¥/4, INV, 6 L; 3NT/4¥/4 = to play 2M-2NT-3M = min, 8L, SNS = SRT, max, 71, SNT = max, o SRT, 9-11 HCP
24/3v = 64/%, INV, 6 L; 2NT = asking for SRT without 3+fit, INV+; 2M-34-3M = min, 8 L, 3NS = SRT, max, 7 L, SNT = max no SRT, 9-11 HCP
PREEMPTIVE, mostly 6322, | 5, — . P T T 9 ) _ ) T ) After overcall: double = penalty, 2NT = asking, INV+, NS = values +
29/ (5)6 (6)8-11 6331 or 6421 3% = slam_ try \{Vlth fit; 3¢ = -|NV with fit; 3v/a = PRE; 3NT/4%/4 = to play; tolerance/fit. 44/ jump = suit + fit
A%/4 = suit + fit, can be tactical
5+v (8)9-12(14) [545% and ~6 L 3% =¥ fitand asking; 3¢ = & fit and asking; 3M/4M =to play, 3NT =to : i _ . . . _ .
2NT 5+a >4 L 65+va and >4 L play; 4m = GF, any fit, Ace in the minor and 2 UH in Majors; ZNT-32/4-3v/4 = 5521, singleton in #/¢; SNT = 6511, 4m = void
3NT 79/a 9-14 iﬁ:;?deggd Major, no 4a = slam try with 3 aces; 4¢ = slam try with 2 aces; 4¥/4 = to play ?;Br:gvce;:gvorr opener shows 8card suit, new suit shows extras and second
3a/e/v/e (6)7 (6)8-11(13) | PREEMPTIVE Natural, 3#-3¢ = ask for 3-card Major; 3m-4om = slam invite, 3m-4m =
A/ e/V/o (7)8 (OERE N 3™ seat can be wider range | PRE




